V=003 AR VIESCEITE R R 2 (2008. 3)

JS A 5308 9 JS3%
2
2
(SL)
2 1 1 (BP)
SL (B) 8/2 6/4 5/5 4/6
218 5 B BP BP C( (N) 9 1)
2 2 B
BP SL/B
PH
glom’
B BP | 4000 291
W © N 3.16
W) () 212
(DW) (SW) - W (DW) 75
(Sw) 12,5
3.1
-2 SLB-1 SLB-5 DW SW SLB-6 SLB-10
DW 190 200
- SL BP C
No 5 kg) W/P
SL:B SL =5 s W D)
SLB-1 8:2 0.848 0.291 0.888 305.2 198
SLB-2 6:4 0.636 0.582 0.804 138.1 195
SLB-3 55 0.530 0.728 0 0.746 102.5 195
SLB-4 4:6 0.424 0.873 0.685 78.5 192
SLB-5 2:8 0.212 1.164 0.560 48.1 191
SLB-6 8.2 0.848 0.262 0.029 0.888 78.0 197
SLB-7 6.4 0.636 0.524 0.058 0.804 66.0 196
SLB-8 5.5 0.530 0.655 0.073 0.746 59.3 194
SLB-9 4.6 0.424 0.788 0.087 0.714 55.0 192
SLB-10 2:8 0.212 1.048 0.116 0.587 42.7 197
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8.2 37.23 1277 | 36 72.0
6:4 26.11 2489 | 27 52.9
(5 mm) 55 21.07 2893 | 25 50.0
( 50q ) 4:6 16.35 3365 | 24 48.0
2:8 7.70 4230 | 19 380
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